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EXAMPLE

1. Find the area of a triangle whose sides are 9

cm, 12 cm and 15 cm.

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wDPAVAST0vXI

2.Sides of a triangle are in the ratio 13:14:15 its

perimeter is 84 cm. Find its area.

o Watch Video Solution

3. an equilateral triangle?

O Watch Video Solution



https://dl.doubtnut.com/l/_wDPAVAST0vXI
https://dl.doubtnut.com/l/_NgCh7x35mh61
https://dl.doubtnut.com/l/_ru9OKb461LwH

4. The lengths of the sides of a triangle are 4
cm, 12 cm and 13 cm. Find the length of the
perpendicular form the opposite vertex to the

side whose length is 13 cm

° Watch Video Solution

5. Find the perecentage increase in the area of

the triangle if each of its sides is doubled.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q8waIVB70223
https://dl.doubtnut.com/l/_nAlPFGkyOLdW
https://dl.doubtnut.com/l/_N9NrXoEprAfX

6. The unequal side of an isosceles triangle is 6
cm nad its perimeter is 24 cm. Find the length

of other side.

o Watch Video Solution

7. Find the area of triangle two sides of which
are 18 cm and 10 cm and the perimeter is 42

cam.

o Watch Video Solution



https://dl.doubtnut.com/l/_N9NrXoEprAfX
https://dl.doubtnut.com/l/_gnUzc3vNIGvV
https://dl.doubtnut.com/l/_NGPujGvndbrq

8. The adjacent sides of a parallelogram ABCD
are 34 cm and 20 cm and the diagonal AC
measure 42 cm. Find the area of the

parallelogram.

° Watch Video Solution

9.Find the area of the unshade region
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l a Watch Video Solution


https://dl.doubtnut.com/l/_NGPujGvndbrq
https://dl.doubtnut.com/l/_1T5FqW3MovnY

10. Find the area of the quadrilateral ABCD in
which AB =9 cm, BC =40 cm, CD = 28 cm, DA =

15cm and ZABC = 90°

o Watch Video Solution

1. Find the perimeter and areaw of the
quadrilaterawl ABCD in which AB =17 cm, AD =
9 cm, Cd = 12 cm,

/ACB = 90° and AC = 15cm



https://dl.doubtnut.com/l/_1T5FqW3MovnY
https://dl.doubtnut.com/l/_Qev1d40oiKSo
https://dl.doubtnut.com/l/_aLCiEqPq6nYP

\ o Watch Video Solution

12. Find the area of the trapezium whose
parallel sides are 25 cm, 13 cm and other sides

are 15 cm and 15 cm

o Watch Video Solution

13. In a four-sided field, the longer diagonal is

128 m. The lengths of the perpendiculars from


https://dl.doubtnut.com/l/_aLCiEqPq6nYP
https://dl.doubtnut.com/l/_8yBC4CpvyvMc
https://dl.doubtnut.com/l/_G0i7bvwWBXEz

the opposite vertices upon this diagonal are

22.7 m and 17.3 m. find the area of the field.

° Watch Video Solution

14. A floral design on a floor of 16 tiles, each
triangular in shae having sides 16 cm, 12 cm
and 20 cm. Find te cost of polishing the tiles

at Rs 2 per sq.cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_G0i7bvwWBXEz
https://dl.doubtnut.com/l/_W3wSiIWJc5Dp

15. An umbrella is made by stitching 10
triangular pieces of cloth of two different

colours (See Fig.

)

each piece measuring 20 cm, 50 cm and 50 cm.
How much cloth of each colour is required for

the umbrella ?

| = |


https://dl.doubtnut.com/l/_sl0qVWOURy8j

I QJ Watch Video Solution I

16. Find the area of the quadrilateral ABCD in
which AB =9 cm, BC =40 cm, CD = 28 cm, DA =

15cm and ZABC = 90°

o Watch Video Solution

17. A triangle and a parallelogram have the
same base and the same area. If the sides of

the triangle are 26 cm, 28 cm and 30 cm, and


https://dl.doubtnut.com/l/_sl0qVWOURy8j
https://dl.doubtnut.com/l/_7VqyINNqWlNS
https://dl.doubtnut.com/l/_83VAnuIgUSk1

the parallelogram stands on the base 28 cm,

find the height of the parallelogram.

° Watch Video Solution

18. Find the area of the trapezium whose
parallel sides are 25 cm, 13 cm and other sides

are 15 cm and 15 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_83VAnuIgUSk1
https://dl.doubtnut.com/l/_8THGS3Szkj6M

19. A traffic signal board, indicating ‘SCHOOL
AHEAD’, is an equilateral triangle with side Q.
Find the area of the signal board, using
Heron’s formula. If its perimeter is 180 cm,

what will be the area of the signal board?

o Watch Video Solution

20. The triangular side walls of a flyover have
been used for advertisements. The sides of the

walls are 122 m, 22 m and 120 m (see Fig. 12.9).


https://dl.doubtnut.com/l/_Kej3ssIDzXyA
https://dl.doubtnut.com/l/_HEK6Toy24FRJ

The advertisements yield an earning of ¥ 5000
per m? per year. A company hired one of its

walls for 3 months. How much rent did it pay?

o Watch Video Solution

21. There is slide in a park. One of its side walls
has been painted in some colour with a

message


https://dl.doubtnut.com/l/_HEK6Toy24FRJ
https://dl.doubtnut.com/l/_kN2IkSivl3Ct

° Watch Video Solution

22. Find the area of triangle two sides of which
are 18 cm and 10 cm and the perimeter is 42

cam.

° Watch Video Solution

23. Sides of a triangle are in the ratio of 12 : 17

: 25 and its perimeter is 540cm. Find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_kN2IkSivl3Ct
https://dl.doubtnut.com/l/_P8DzMkDkboVd
https://dl.doubtnut.com/l/_1c53cltDrlCp

24. An isosceles triangle has perimeter 30 cm
and each of equal sides is 12 cm. Area of the

triangle is :

o Watch Video Solution

25. A park, in the shape of a quadrilateral
ABCD, has ZC =90°,
AB = 9m, BC = 12m,CD = 5m and

AD = 8m.How much area does it occupy ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_1c53cltDrlCp
https://dl.doubtnut.com/l/_lMaUN0Mdt1ja
https://dl.doubtnut.com/l/_cnnME7fQCrZf

26. Find the area of a quadrilateral ABCD in
which AB=3 cm,BC=4cm,CD =4 cmn, DA=5

cm and AC =5 cm.

° Watch Video Solution

27.Radha made a picture of an aeroplane with

coloured paper as shown in Fig.


https://dl.doubtnut.com/l/_cnnME7fQCrZf
https://dl.doubtnut.com/l/_HDAXR5AWn0is
https://dl.doubtnut.com/l/_rkX6gxWqrg4a
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Find the total area of the paper used.

o Watch Video Solution



https://dl.doubtnut.com/l/_rkX6gxWqrg4a

28. A triangle and a parallelogram have the
same base and the same area. If the sides of
the triangle are 26 cm, 28 cm and 30 cm, and
the parallelogram stands on the base 28 cm,

find the height of the parallelogram.

o Watch Video Solution

29. Arhombus shaped field has green grass for
18 cows to graze. If each side of the rhombus

is 30m and its longer diagonal is 48m, grass of


https://dl.doubtnut.com/l/_Ag5tdRf5Ry1p
https://dl.doubtnut.com/l/_LjLaUarrLLea

how much area of grass field will each cow be

getting ?

° Watch Video Solution

30. A floral design on a floor of 16 tiles, each
triangular in shae having sides 16 cm, 12 cm
and 20 cm. Find te cost of polishing the tiles

at Rs 2 per sq.cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_LjLaUarrLLea
https://dl.doubtnut.com/l/_YMCJWk0deAeu

31. A field is in the shape of a trapezium whose
parallel sides are 25m and 10m. The non-

parallel sides are 14m and 13 m. Find the area

of the field.

° Watch Video Solution

32. The area of a triangle with base 4 cm and

height 6 cm is 24cm? .

o Watch Video Solution



https://dl.doubtnut.com/l/_V8zb2anUgkE9
https://dl.doubtnut.com/l/_nOFH4GaQAll0
https://dl.doubtnut.com/l/_61wSrwEbOJWt

33. The area of triangleABC is 8cm? in which

AB=BC=4cmand ZA = 90°

° Watch Video Solution

34. The area of the isosceles triangle is
5
Z\/llcmz, if the sperimeter is 11 cm and the

base is 5 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_61wSrwEbOJWt
https://dl.doubtnut.com/l/_NRmFgntZi7Mf

35. The area of the equilateral triangle is

20,/3cm? whose each side is 8 cm.

° Watch Video Solution

36. If the side of a rhombus is 10 cm and one
diagonal is 16 cm, prove the area of the

rhombus is 96cm? .

° Watch Video Solution



https://dl.doubtnut.com/l/_3yRCBbPsSZsE
https://dl.doubtnut.com/l/_4UTs7wZxr14I

37.The base and the corresponding altitude of
a parallelogram are 10 cm and 3.5 cm,
respectively. The area of the parallelogram is

30cm? .

° Watch Video Solution

38. The area of a regular hexagon of side a is
the sum of the areas of the five equilateral

triangles with side a.

° Watch Video Solution



https://dl.doubtnut.com/l/_fAGnTKCcUrcY
https://dl.doubtnut.com/l/_pUDyiFq0v9JP

39. Prove that the cost of levelling the ground
in the form of a triangle having the sides 51 m,
37 m and 20 m at the rate of Rs 3 per m? is Rs.

918.

o Watch Video Solution

40. In a triangle, the sides are given as 11 cm,
12 cm and 13 cm.Prove that the length of the
altitude is 10.25 cm corresponding to the side

having length 12 cm.


https://dl.doubtnut.com/l/_pUDyiFq0v9JP
https://dl.doubtnut.com/l/_XTMd4C23b6gM
https://dl.doubtnut.com/l/_FzoiU4zN2Ce0

° Watch Video Solution

41.Find the cost of laying grass in a triangular

field of sides 50 m, 65 m and 65 m at the rate

of Rs Tperm?

° Watch Video Solution

42. From a point in the interior of an
equilateral triangle, perpendiculars are drawn

on the three sides, the lengths of te


https://dl.doubtnut.com/l/_FzoiU4zN2Ce0
https://dl.doubtnut.com/l/_3BT0ccebtAqw
https://dl.doubtnut.com/l/_kytImUpP9Ra1

perpendicular are 14 cm, 10 cm and 6cm. Find

the area of the triangle.

° Watch Video Solution

43. The perimeter of an isosceles triangle is 32
cm. The ratio of the equal side to its base is

3:2. Find the area of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_kytImUpP9Ra1
https://dl.doubtnut.com/l/_GK0faGZKHPcl

44, Find the area of a parallelogram. Also find
the length of the altitude from vertex A on the

side DC.

o Watch Video Solution

45. A field in the form of a parallelogram has
sides 60 m and 40 m and one of its diagonals

is 80 m long. Find the area of te parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_MsYuWF0n9C3U
https://dl.doubtnut.com/l/_M0zzJD1ZEFwq
https://dl.doubtnut.com/l/_5Bp5N0VXf1fw

46. The perimeter of a triangular field is 420 m
and irts sides are in the ratio 6:7:8. Find the

area of the triangular field.

o Watch Video Solution

47.The sides of a quadrilateral ABCD are 6 cm,
8 cm, 12 cm and 14 cm respectively, and the
angle between the first two sides is a right

angles. Find its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_5Bp5N0VXf1fw
https://dl.doubtnut.com/l/_AljLJmfVIim7

48. A rhombus shaped sheet with perimeter
40 cm and one diagonal 12 cm, is painted on
both sides at the rate of Rs5perem?. Find the

cost of painting.

o Watch Video Solution

49, Find the area of the trapezium PQRS with

height PS in given figure.


https://dl.doubtnut.com/l/_uEU7kw6EPe6p
https://dl.doubtnut.com/l/_pvQDvz2rjwfK

13m

| &

° Watch Video Solution

50. The areaw of a trapezium is 475¢m? and
the height is 19 cm. Find the length of its two
parallel sides if one side is 4 cm greater than

the other.



https://dl.doubtnut.com/l/_pvQDvz2rjwfK
https://dl.doubtnut.com/l/_cHjOs7OHpErf

I 0 Watch Video Solution

51. A rectangular plot is given for constructing
a house having a measurement of 40m length
and 15m in the front. According to the laws, a
minimum of 3m, wide space should be left in
the front and back each and 2m wide space on
each of other sides. Find the largest area

where house can be constructed.

o Watch Video Solution



https://dl.doubtnut.com/l/_cHjOs7OHpErf
https://dl.doubtnut.com/l/_dGj2UMxzdYqf

52. A field is in the shape of a trapezium
having parallel sides 90 m and 30 m. These
sides meet the third side at right angles. The
length of the fourth side is 100 m. If it Rs. 4
costs to plough 1 m2 of the field, find the total

cost of ploughing the field.

o Watch Video Solution

53. find the area of the rectangle whose sides

are 3cm and 5cm

| & I


https://dl.doubtnut.com/l/_Zp8m97pnweva
https://dl.doubtnut.com/l/_0UxbNShtdfC5

| ¥ Watch Video Solution |

EXERCISE

1. Find the area of the triangle, the lengths of

whose sides are 18 cm, 24 cm and 30 cm.

o Watch Video Solution

2.Find the area of the triangle whose sides are

12 cm, 14 cm and 20 cm.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_0UxbNShtdfC5
https://dl.doubtnut.com/l/_7TWylByjyFqe
https://dl.doubtnut.com/l/_KZcZzCeE9FC9

3. The base of a right-awngled triangle is 48
cm and it hypotenuse is 50 cm. Find the area

of the triangle.

° Watch Video Solution

4. Find the area of a triangle whose sides are
18 cm 24 cm, and 30 cm in length. Find the

height corresponding to the greatest side.

° Watch Video Solution



https://dl.doubtnut.com/l/_KZcZzCeE9FC9
https://dl.doubtnut.com/l/_BseCjB4UDS7E
https://dl.doubtnut.com/l/_JpXJ56nX38Yl

5. Find the area of an isosceles triangle, each
of whose equal sides measure 13 cm and

whose base measures 20 cm.

° Watch Video Solution

6. An isosceles triangle has perimeter 30 cm
and each of equal sides is 12 cm. Area of the

triangle is :

° Watch Video Solution



https://dl.doubtnut.com/l/_JpXJ56nX38Yl
https://dl.doubtnut.com/l/_Liesb3OzGHSj
https://dl.doubtnut.com/l/_hZka9aOLDbLg

7. The base of an isosceles triangle measures
80 cm and its areaw is 360cm?®. Find the

perimeter of the triangle.

° Watch Video Solution

8. If the area of an equilateral is 36,/3cm?, find

its perimeter.

o Watch Video Solution



https://dl.doubtnut.com/l/_hZka9aOLDbLg
https://dl.doubtnut.com/l/_oSuScX0Fx5Ht
https://dl.doubtnut.com/l/_lcJskhVirick
https://dl.doubtnut.com/l/_TXUXjCbebzSf

9. If the area of an equilateral is triangle is

8+/3cm?, find its height.

° Watch Video Solution

10. The sides of a triangle are in the ratio 3:5:7°
and its perimeter is 600 cm. Find the area of

the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_TXUXjCbebzSf
https://dl.doubtnut.com/l/_htKDVd1hO1s9

1. The height of an equilateral triangle

measures 9 ¢<m. Find its area

(T'ake,/3 = 1.732)

o Watch Video Solution

12. The perimeter of a triangular field is 540 m
and its sides are in the ratio 25:17:12. Find the
area of the triangle. Also find the cost of

ploughing the field at Rs 20 per 10m?

° Watch Video Solution



https://dl.doubtnut.com/l/_4aPWWiJtAfAr
https://dl.doubtnut.com/l/_WPSY91fyp4Ku

13. The perimeter of an isosceles triangle
measures 42 cm and its base is 2 times each
of the equal sides. Find the length of each side

of triangle.

o Watch Video Solution

14. The perimeter of an isosceles triangle
measures 42 cm and its base is 3 times each

of the equal sides. Find the area of triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_WPSY91fyp4Ku
https://dl.doubtnut.com/l/_uwvZxrROa8Ie
https://dl.doubtnut.com/l/_T94SVRuAhaJB

15. The perimeter of an isosceles triangle
. N
measures 42 cm and its base is 3 times each

of the equal sides. Find height of the triangle.

o Watch Video Solution

16. The lengths of the sides of a triangle are in
the ratio 3:4:2 and its perimeter is 144 cm.

Find the area of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_T94SVRuAhaJB
https://dl.doubtnut.com/l/_CLhfDO9GHO0u
https://dl.doubtnut.com/l/_2a5zlQ6Uwx70

17. The lengths of the sides of a triangle are in
the ratio 3:4:5 and its perimeter is 144 cm.
Find the height corresponding to the largest

side.

o Watch Video Solution

18. Find the area of a parallelogram ABCD in
which AB = 28 cm, BC = 26 cm and diagonal AC

=30 cm.

l o Watch Video Solution


https://dl.doubtnut.com/l/_2a5zlQ6Uwx70
https://dl.doubtnut.com/l/_SB9hpCquFJnG
https://dl.doubtnut.com/l/_LOdWy7LGHUg0

19. Find the area of a parallelogram ABCD in

which AB =14 cm, BC =10 cm and AC =16 cm.

o Watch Video Solution

20.The sides of a quadrilateral are 5 cm,12 cm,
14 cm and 15 cm and the angle between the

first two sides is a right-angle. Find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_LOdWy7LGHUg0
https://dl.doubtnut.com/l/_6SXBvXpcmq5H
https://dl.doubtnut.com/l/_x4HQeen1ZqT4

21. Find the area of a quadrilateral ABCD
whose sides AB,BC, CD and DA are 9 cm, 40 cm,
28 cm and 15 cm respectivelyand the angle

between the firswt two sides is a right angle.

o Watch Video Solution

22. Find the perimeter and area of the
quadrilateral ABCD in which AB = 42 cm, BC =
21 cm, CD = 29 cm, DA = 34 cm and

/ZCBD = 90°

| & I


https://dl.doubtnut.com/l/_idHmC7wPfaO5
https://dl.doubtnut.com/l/_ASxDIIreqcoW

| ¥ Watch Video Solution |

23. Find the perimeter and area of the
quadrilateral ABCD in which AB =17 cm, AD =9

cn,CD=12cm, ZACB = 90° and AC=15cm

o Watch Video Solution

24. Find the area of a rhombus whose
perimeter is 80 cm and one of whose

diagonals is 24 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_ASxDIIreqcoW
https://dl.doubtnut.com/l/_o1OXnuiUOa5B
https://dl.doubtnut.com/l/_OV95LoLS1nng

25. Two parallel sides of a trapezium are 60 cm
and 77 cm and other sides are 25 cm and 26

cm. Find the area of the trapezium.

o Watch Video Solution

26. Find the area of the quadrilateral ABCD in
which AD = 24 cm, Z/ZBAD = 90° and BCD
forms an equilateral triangle whose each side

is 26 cm.

| = 1


https://dl.doubtnut.com/l/_OV95LoLS1nng
https://dl.doubtnut.com/l/_Ajcp3kHk4AqG
https://dl.doubtnut.com/l/_JyUzkOMwNPsG

I &9 Watch Video Solution I

27. A rhombus sheet, whose perimeter is 32 m
and whose one diagonal is 10 m long, is
painted on both sides at the rate of Rs 5 per

square metre. Determine the cost of painting.

o Watch Video Solution

28. Find the area of the blades of the magnetic

compass shown in the figure


https://dl.doubtnut.com/l/_JyUzkOMwNPsG
https://dl.doubtnut.com/l/_RpEbvt922XCS
https://dl.doubtnut.com/l/_F8P6BSSUdh4Y

= =
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o Watch Video Solution

29. Find the area of an equilateral triangle

whose each side is 4 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_F8P6BSSUdh4Y
https://dl.doubtnut.com/l/_pDqW7ZLFMlhh

30. What is the area of an equilateral triangle

whose sides is 'a'?

o Watch Video Solution

31. Find the area of a triangle whose sides are

3cm,4 cm and 5 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_E44f3Iw4KcAL
https://dl.doubtnut.com/l/_Sb4nnC2OjXdb

32. Find the area of a triangle whose base is 5

cm and altitude 4 cm.

o Watch Video Solution

33. Find the area of an isosceles triangle

having base a cm and one side b cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_iDnMs2r2y7WG
https://dl.doubtnut.com/l/_2Q3tf2LlX1N3

34. Find the area of an equilateral triangle

having altitude h cm.

o Watch Video Solution

35. If each side of a triangle is doubled, then

find the percentage increase in its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_bVV9B4X9Srq9
https://dl.doubtnut.com/l/_bpxDkCAIdA9W

36. If each side of an equilateral triangle is
tripled, then find the percentage increase in

its area.

o Watch Video Solution

37. The perimeter of a triangular field is 144 cm
and the ratio of the sides is 3:4:5. Find the

area of the field.

o Watch Video Solution



https://dl.doubtnut.com/l/_RgNh1v9af27n
https://dl.doubtnut.com/l/_cGH3Y7HY6VIL
https://dl.doubtnut.com/l/_2Ndoc3RlcAO8

38.1f /A be the area of the triangle, find the

area of te triangle whose each side is doubled.

° Watch Video Solution

39. True/False:
If the base of an isosceles triangle is 6 cm and

its perimeter is 16 cm, then, its area is 12cm?

° Watch Video Solution



https://dl.doubtnut.com/l/_2Ndoc3RlcAO8
https://dl.doubtnut.com/l/_CIiIDzZdbfi2

40. True/False:
If the sides of a triangular field measure 51 m,
37 m and 20 m, then the cost of levelling it at

Rs 5 per m"2'is 1540

° Watch Video Solution

41. True/False:

If each side of an equilateral triangle is 8 cm,

then its area is 20,/3cm”

° Watch Video Solution



https://dl.doubtnut.com/l/_oV0TwFMQq9va
https://dl.doubtnut.com/l/_1SRgF4j92kEs

42. True/False:
If each side of a triangle is doubled, then the

percentage increase in its area is 200%

° Watch Video Solution

43. True/False:
If 'triangle' be the area of the triangle, then
the area of the triangle whose each side is

doubled is 4 triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_1SRgF4j92kEs
https://dl.doubtnut.com/l/_kpRa2f524wQ6
https://dl.doubtnut.com/l/_sIgsEjtT0hAe

44.Fill in the Blanks:

Square is a special type of

o Watch Video Solution

45, Fill in the Blanks:

Area of a cyclic quadrialteral is

o Watch Video Solution



https://dl.doubtnut.com/l/_sIgsEjtT0hAe
https://dl.doubtnut.com/l/_QOUCDEnZpzYl
https://dl.doubtnut.com/l/_yQ7XD0Kb0648

46. Fill in the Blanks:

The diagonal of a square =

o Watch Video Solution

47. Fill in the Blanks:
Side of an equilateral triangle is 16 cm, its

altitude is

o Watch Video Solution



https://dl.doubtnut.com/l/_Uz8PdIGO1HNu
https://dl.doubtnut.com/l/_nCszYgPtHDJs

48.The lengths of three sides of a triangle are

20 cm, 16 cm and 12 cm. The area of the

triangle is

A. 96cm’

B. 144cm?

C. 120cm?

D. 160cm>

o Watch Video Solution



https://dl.doubtnut.com/l/_cne3gJdmNCzE
https://dl.doubtnut.com/l/_LoRc7crop0xQ

49. The base of an isosceles triangle is 8 cm
long and each of its equal sids measures 6 cm.
The area of the triangle is

A. 8,/5cm?

B. 16,/5cm*

C. 164/3cm?

D. 84/3cm’

o Watch Video Solution



https://dl.doubtnut.com/l/_LoRc7crop0xQ
https://dl.doubtnut.com/l/_OtZzE5UV878X

50. The sides of a triangle are in the ratio 3:5:7

and its perimeter is 600 cm. Find the area of

the triangle.

A. 750em?

B. 375¢cm>

C. 250cm?

D. 500cm>

o Watch Video Solution



https://dl.doubtnut.com/l/_OtZzE5UV878X

51. The base of an isosceles triangle is 16cm
and its area is 48cm?. The perimeter of the
triangle is

A .41 cm

B.48 cm

C.36cm

D. 324 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_c8VeXr7SU9uo
https://dl.doubtnut.com/l/_YmLNTP4uKplH

52. Each of the equal sides of an isosceles

triangle is 13 cm and its base is 24 cm. The

area of the triangle is

A. 156¢cm?

B. 60cm?

C. 78cm?

D. 120cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_YmLNTP4uKplH
https://dl.doubtnut.com/l/_Fl9QhMK6Obt7

53. The area of an equilateral
81,/3cm?. Its height is

A.6.,/3cm

B.9,/3cm

C.18,/3cm

D.9cm

triangle is

° Watch Video Solution



https://dl.doubtnut.com/l/_Fl9QhMK6Obt7

54. The lengths of each side of an equilateral
triangle of area 4,/3cm? is

A —cm

B.4 cm

C.—ocm

D.3 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_AiVNPSaEKQYk

55. A sqaure and an equilateral triangle have
equal perimeters. If the diagonal of the square
is 124/2cm, then area of the triangle is

A. 24\/§cm2

B. 24./3cm*

C. 64,/3cm?

D. 48,/3cm

o Watch Video Solution



https://dl.doubtnut.com/l/_RF0zrbLI6qTA
https://dl.doubtnut.com/l/_KGzVplJHm4wB

56. An isosceles right triangle has area 8cm?.
The length of its hypotenuse is :
A. /32cm

B. /16cm

C. \/4_86771,
D. \/ﬂcm

o Watch Video Solution



https://dl.doubtnut.com/l/_KGzVplJHm4wB

57. The sides of a triangle are 56 cm, 60 cm and

52 cm long. Then the area of the triangle is :

A. 1322cm?

B.1311cm?

C. 1344cm?

D. 1392cm?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZpJ63h6qgaGL

58. The length of each side of an equilateral
triangle having an area of 9\/§cm2 is :

A.8cm

B.36 cm

C.4cm

D.6cm

° Watch Video Solution



https://dl.doubtnut.com/l/_7rWhPXWUQ3zR

59. If the area of an equilateral triangle is
16/3cm?, then the perimeter of the triangle
Is

A.48 cm

B.24 cm

C.12 cm

D. 306 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_OGA21p8kUjtN
https://dl.doubtnut.com/l/_rK5ncLyftus4

60. The edges of a triangular board are 6 cm, 8

cm and 10 cm. The cost of painting it at the

2

rate of 9 paise per cm” is :

A.Rs 2.00

B.Rs 2.16

C.Rs 248

D.Rs 3.00

o Watch Video Solution



https://dl.doubtnut.com/l/_rK5ncLyftus4
https://dl.doubtnut.com/l/_90yADpGdsBK6

61. The area of a trapezium of height 3 cm is
12cm?. If one of the parallel side is 3 cm, then

find the other side.

o Watch Video Solution

62. In the fig. fourth quadrant of a circle is
OACB where O is the centre of the circle and
radius of the circle is 3.5 cm. Find the area of
fourth quadrant of the circle.and find the area

of shaded portion of the part ADBC if OD=2cm


https://dl.doubtnut.com/l/_90yADpGdsBK6
https://dl.doubtnut.com/l/_LxjNzvaGUc52

o Watch Video Solution

63. What is the hypotenuse in an isosceles

right angled triangle is equal to?

° Watch Video Solution



https://dl.doubtnut.com/l/_LxjNzvaGUc52
https://dl.doubtnut.com/l/_Z7dtlG72UwVT

64. The area of a rhombus is 192cm?. The
length of one diagonal is twice the other, find

the length of diagonals.

o Watch Video Solution

65. The sides of a triangular field are 20m, 37
m and 51 m. Find the number of flower beds
that can be prepared if each bed measures

(2 x 3)m?

| = 1


https://dl.doubtnut.com/l/_Z7dtlG72UwVT
https://dl.doubtnut.com/l/_KgdeNlAoX6Uq
https://dl.doubtnut.com/l/_QbGyPBd57D1I

I &9 Watch Video Solution I

66. A parallelogram, the length of whose side
are 60 cm and 25 cm has one diagonal 65 m

long . Find the area of the parallelogram.

o Watch Video Solution

67. From a point in the interior of an
equilateral triangle, perpendiculars are drawn

on the three sides, the lengths of te


https://dl.doubtnut.com/l/_QbGyPBd57D1I
https://dl.doubtnut.com/l/_xKazI4he0AS4
https://dl.doubtnut.com/l/_5kgzDDB28oKu

perpendicular are 14 cm, 10 cm and 6cm. Find

the area of the triangle.

° Watch Video Solution

68. Find the area of a quadrilateral ABCD
whose sides AB,BC, CD and DA are 9 cm, 40 cm,
28 cm and 15 cm respectivelyand the angle

between the firswt two sides is a right angle.

o Watch Video Solution



https://dl.doubtnut.com/l/_5kgzDDB28oKu
https://dl.doubtnut.com/l/_N2Nw08qSsHM7

69. A field in the form of a parallelogram has
sides 60 m and 40 m and one of its diagonals

is 80 m long. Find the area of te parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_gNu8cjMgpYba

